
à. dm°Q> a J°g ho ------ Mo {‘lU Amho.

à. ¶m YmVyÀ¶m ³bmoamB©S>Mo gyÌ Amho Va ¶m YmVyMo ’$ m°ñ’o$ Q> Mo aoUygyÌ H$ m¶ Agob?

à. ‘mob AmoPmoZ‘Yrb aoUy§Mr g§»¶m {H$ Vr?

� � �

à. ³bmoarZ Am¶Z À¶m g§¶wOm Bbo³Q´> m°Z g§»¶m ------

à. Imbrbn¡H$ s H$ moUVm AmboI dñVyMr {dam‘ AdñWm Xe©{dVmo?

1

1. 2.

3. 4.

2

1. 2.

3. 4.

3

1. 2.

3. 4. 3

4

1. 2. 3. 4.

5

1. 2. 3. 4.

Water gas is mixture of ---------

CO + H CO + H + Co

CO + H CO + H + CO + N

M MCl M

The formula of chloride of a metal M is MCl then the formula of phosphate of metal M will be

M PO MPO

M PO M (PO )

1

How many molecules are present in one mole of ozone?

3 2

6.022 10 6.022 10

(Cl )

Number of valence electron in Cl ion are ----------

8 17 18 1

Which graph represents a state of rest for an object?

2 2 2 2

2 2 2 2

3

3

3 4 4

2 4 2 4 3

23 23

-

-

OZgodm gm‘m{OH$  e¡j{UH$  à{Vð> mZ Ah‘XZJa

B¶ËVm - dr

narjm H«$ . -

9 {XZm§H$  -
JwU -
doi - Vmg {‘{ZQ> o

17/3/2019

150

1 30

{dÚmÏ¶mªZm gyMZm …-

XmoZ JwU

{ZJo{Q> ìh JwU nÜXVr bmJy Zmhr.

1.

2.

3.

4.

5.

6.

1.

1. 2. 3. 4.

1. 2. 3. 4.

7.

8.

CËVao doJù¶m CËVan{ÌHo$ da {bhmd¶mMr AmhoV.
gXa àíZn{ÌHo$ V àíZ A{Zdm¶© AmhoV. àË¶oH$ AMyH$ CËVamg Amho.
àË¶oH$ àíZmbm Mma n¶m©¶r CËVao gwM{dbr AmhoV. Ë¶mn¡H$ s ¶mo½¶ Vmo CËVamMm H«$ ‘m§H$ CËVan{ÌHo$ V N> m¶m§{H$ V H$ amdm.
Ë¶mgmR> r H$ mù¶m qH$ dm {Zù¶m emB©Mm ~m°bnoZ dmnamdm.
EH$ Xm Z‘yX Ho$ bobo CËVa ImoS> Vm ¶oUma Zmhr, Vgo Ho$ ë¶mg Vnmgbo OmUma Zmhr.
EH$ mM àíZmMo EH$ mnojm OmñV Jmob N> m¶m§{H$ V Ho$ ë¶mg Vmo àíZ Vnmgbm OmUma Zmhr.
CËVa {b{hÊ¶mMr ¶mo½¶ nÜXVr CXm.
àíZ ---------- earamVrb gdm©V ‘moR> r J«§Wr Amho.

ñdmXþqnS> Wm¶am°p³gZ ¶H¥$ V bmbmoËnmXH$ J«§Wr
CËVa …
KmB©‘wio MwH$ m hmoUma ZmhrV ¶mMr XjVm ¿¶mdr. doioMo {Z¶moOZ H$ amdo.

75
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à. í¶m‘ ~moQ> rVyZ OS> XJS> ~mhoa ’o$ H$ Vmo Ë¶m‘wio ~moQ> {dê$ X²Y {XeoZo gaH$ Vo ho CXmhaU

Ý¶yQ> ZÀ¶m ----- {Z¶‘mda AmYmarV Amho?

n{hbm Xþgam

{Vgam> Jwê$ ËdmH$ f©U

à. Imob nmÊ¶mVrb ì¶³Vrbm VoWrb nmÊ¶mdarb hdoV {Z‘m©U Pmbobm ÜdZr EoHy$ ¶oV Zmhr H$ maU H$ s -------

ÜdZrMm doJ hdonojm nmÊ¶mV H$ ‘r AgVmo.

ÜdZr Mma nQ> rZo hdonojm nmÊ¶mV OmñV doJmZo OmVmo.

~amMgm ÜdZr nmÊ¶mÀ¶m n¥ð>^mJmdê$ Z namd{V©V hmoVmo.

ÜdZr nmÊ¶mV EoH$ bm OmD$ eH$ Vmo.

à. EH$ ì¶³Vr Amaemg‘moa C^r AgVm {VMr à{V‘m bhmZ d gwbQ> r {XgVo Va Amagm ------- Agob.

A§VJm}b ~{hJm}b

gnmQ> n¶m©¶ d

à. qb~mÀ¶m agmMm ------

nojm H$ ‘r

nojm OmñV

à. gm~U ho --------

nmoQ> °{eA‘ qH$ dm gmo{S> ¶‘Mo Am°³gmB©S> AgVmV.

H$ m~m}p³P{bH$ AmåbmMo nmoQ> °{eA‘ qH$ dm gmo{S> ¶‘ jma AgVmV.

Vob qH$ dm Ma~r

AmåbY‘u

à. Imbrbn¡H$ s g§V¥ßV hm¶S´> moH$ m~©Z H$ moUVo?

BWoZ àmonoZ

ã¶yQ> oZ> darb gd©

à. ã¶yQ> oZMo aoUwgwÌ -------

6

1. 2.

3. 4.

7

1.

2.

3.

4.

8

1. 2.

3. 4.

9

1. 2.

3. 4.

10

1.

2.

3.

4.

11

1. 2.

3. 4.

12

1. 2.

3. 4.

Shyam throws a heavy stone out of his boat. As a result the boat moves in opposite direction . In this

exampleAccording to Newton is -------- law of motion are occurs.

[first] [second]

[third] [Gravitation]

Asound produce in air cannot be heard by a person deep inside the water this is because ----

[speed of sound is less in water than in air]

[sound travels four times more faster in water than in air]

[most of the sound is reflected from the surface of water]

[the sound can be heard inside the water]

A person standing in front of a mirror finds that his image is smaller than himself and erect, this implies

the mirror is--------

[concave] [convex]

[plane] 1 2 [option 1&2]

PH

PH of lemon juice ------------

7 7 [Below 7]

7 [Above 7] 0

Soaps are -------------

[Oxides of sodium and potassium]

[Sodium and potassium salts of carboxylic acids]

[Oil and fats]

[Acidic]

Which of the following is saturated hydrocarban?

[Ethane] [Propane]

[Butane] [All of the above]

The molecular formula of Butane is ----------

C H C H

C H C H

4 10 4 8

4 6 4 12

(2)
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à. a§Jn§M‘rbm dmnabm OmUmam bmb a§J gdm©V KmVH$ AgVmo Ë¶m‘Ü¶o ------ Mo à‘mU OmñV AgVo

Ë¶m‘wio Am§YionUm, ËdMoMm H$ H©$ amoJ, AñW‘m, ËdMm ImOUo, ËdMoMr a§Y«o H$ m¶‘Mr ~§X hmoUo Ago YmoHo$ CX²^dVmV.

{gëìha nmam

A°ë¶w{‘{ZA‘ {ego

à. Oa {dXçwV ~ë~ hm XmoZ H$ moZ Agboë¶m gnmQ> Amaem Xaå¶mZ R> odë¶mg ~ë~À¶m ------ à{V‘m V¶ma hmoVrb.

à. EH$ ì¶³Vr {eÅ> r dmO{dë¶mZ§Va goH§$ XmZo Ë¶mMm à{VÜdZr EoH$ Vmo Va ì¶³Vr Am{U namdV©H$ mXaå¶mZ ---- ‘rQ> a

A§Va Amho.

à. dQ> dmKyi -------- dma§dm[aVoMm ÜdZr {Z‘m©U H$ ê$ eH$ VmV.

nojm A{YH$ dma§dm[aVoMm

nojm H$ ‘r dma§dm[aVoMm

à. doJmVrb ~XbmÀ¶m XamMo EH$ H$ --------

à. hm Ý¶yQ> ZMm H$ moUVm {Z¶‘ Amho?

Ý¶yQ> ZMm n{hbm {Z¶‘

Ý¶yQ> ZMm Xþgam {Z¶‘

Ý¶yQ> ZMm {Vgam {Z¶‘

Ý¶yQ> ZMm Jwê$ ËdmH$ f©UmMm {Z¶‘

à. KS>çmimVrb Jw§S> miboë¶m VmaoV ------- D$ Om© AgVo.

J{VO pñW{VO

J{VO Am{U pñW{VO COm© {dXçwV

à. Imbrbn¡H$ s H$ moUË¶m ‘mÜ¶‘mV ÜdZrMm doJ gdm©{YH$ AgVmo?

ñWm¶y Ðd

ñWm¶y Am{U Ðd dm¶y

13

1. 2.

3. 4.

14

1. 2. 3. 4.

15

1. 2. 3. 4.

16

1. 2.

3.

4.

17

1. 2. 3. 4.

18

1.

2.

3.

4.

19

1. 2.

3. 4.

20

1. 2.

3. 4.

The red colour used on Rang Panchami is very dangerous. It contains a high proportion of --------- in it.

This poses risks like blindness, skin cancer, asthma itching of the skin, permanent blocking of sweat

pores.

[Silver] [Mercury]

[Aluminium] [Lead]

60

If a light bulb is a placed between two plane mirrors inclined at an angle of 60 the number of image

formed are ---------

5 6 9 10

1.2

A man blows a whistle and hears an echo after 1.2 seconds then the distance between the man and the

reflector of the sound is ----------- metre. (take velocity of sound in air is 330 m/s)

396 330 115 198

Bats can produce sound of ----------- frequency.

20 Hz - 2000 Hz 10 Hz - 10000 Hz

20,000 Hz [frequency greater than 20,000 Hz]

20 Hz [frequency smaller than 20 Hz]

The unit for the rate of change of velocity will be -------

m/s m/s Newton dyne

f = ma

The law which defines f = ma is

[Newton’s first law of motion]

[Newton’s second law of motion]

[Newton’s third law of motion]

[Newton’s law of gravitation]

Awound spring in watch has ----------- energy.

[kinetic] [potential]

[kinetic & potential] [electri]

In which of the following media will sound travel the fastest?

[solid] [liquid]

[solid & liquid] [gas]

0

0

2

(3)
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à. Imbrbn¡H$ s MwH$ sMr OmoS> r AmoiIm.

W°bmo’$ m¶Q> m - ‘m°g

~«m¶mo’$ m¶Q> m - [ap³g¶m

Q> o[aS> mo’$ m¶Q> m - ZoMo

AZmd¥ËV~rOr dZñnVr - ‘moan§Ir

à. ----- hr EH$ ~rOnÌr dZñnVrMr CXmhaUo AmhoV.

Vm§Xÿi, Jhÿ, dmQ> mUm Am§~m, dmQ> mUm, ~mOar

Jhÿ, Vm§Xÿi, ^wB©‘yJ Vm§Xÿi, Jhÿ, Ádmar

à. Ho$ gmVrb H$ m|S> m hmoÊ¶mg H$ maUr^yV H$ moU ------

OrdmUy $ {dfmUy

Am{XOrd H$ dH$

à. doJim eãX AmoiIm.

b°³Q> mo~°{gbm¶ am¶Pmo{~¶‘

{H$ Êd ³bmoñQ´> r{S>A‘

à. KZH$ Mam ì¶dñWmnZmV ‘§ÌmMm dmna H$ aUo Amdí¶H$ , åhUOo ------

à. öX¶mMo R> moHo$ , ídmgmoÀN> dmg, qeH$ Uo ¶mgma»¶m AZ¡pÀN> H$ {H«$ ¶m§Mo {Z¶§ÌU ‘|XÿVrb ----- Ûmao hmoVo.

‘oê$ aÁOy ‘mpñVîH$ nwÀN>

à‘pñVîH$ $ AZw‘pñVîH$

à. Imbrbn¡H$ s H$ moUmMr g§¶wOm g‘mZ AmhoV?

¶mn¡H$ s Zmhr

à. g§{nS>Z Am{U {dabZ ------ ‘Ü¶o V¶ma hmoVmV.

ÜdZr bhar àH$ me bhar

E³g-ao darb gd©

21

1.

2.

3.

4.

22

1. 2.

3. 4.

23

1. 2.

3. 4.

24

1. 2.

3. 4.

25

1.

2.

3.

4.

26

1. 2.

3. 4.

27

1. 2.

3. 4.

28

1. 2.

3. 4.

Identify incorrect pair.

[Thallophyta - Moss]

[Bryophyta - Riccia ]

[Pteridophyta - Ferns]

[Gymnosperms - Morpankhi]

--------- are examples of monocotyledon plants.

[Rice, Wheat, Pea] [Mango, Pea, Bajra]

[Wheat, Rice, Groundnut] [Rice, Wheat, Jowar]

----------- causes Dandruff

[Bacteria] [Virus]

[Protozoa] [Fungi]

Find odd man out.

[Lactobacilli] [Rhizobium]

[Yeast] [Clostridium]

3R 3R

In solid waste management follows the 3R mantra, 3R means ----------

Reduce, Reuse, Recycle

Recover, Reproduction, Recycle

Reduce, Repeat, Recycle

Reuse, Reduce, Reduction

---------- parts of the brain controls involuntary activities like the beating of the heart, breathing,

sneezing.

[spinal cord] [medulla-oblongata]

[cerebrum] [cerebellum]

Which of the following have same valency?

A(2, 8, 2) , B (2, 8) , C (2, 6)

Aand B Aand C

B and C [none of these]

Compressions and rarefaction are formed in --------

[sound wave] [light wave]

[X-ray] [All of these]

(4)
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à. EH$ ì¶³Vr Amaemg‘moa C^m Agë¶mg Ë¶mMr à{V‘m ñdV…nojm ‘moR> r {XgVo Va Vmo Amagm ------ Amho.

~{h©dH«$ A§VadH«$

gnmQ> d XmoÝhrhr

à. ìhmoëQ> ho ------ Mo EH$ H$ Amho.

{dXçwVYmam amoY

{dXçwV à^ma ¶m§n¡H$ s Zmhr

à. AmH¥$ VrV XmI{dë¶mà‘mUo XJS> da ’o$ H$ bm AgVm XJS> ¶m {R> H$ mUr Agë¶mda gdm©V OmñV H$ emMr qH$ ‘V Agob?

Ë¶mMm ËdaU

Ë¶mMr JVrO D$ Om©

Ë¶mMr pñWVrO D$ Om©

Ë¶mMo dOZ

à. H$ moUVr nm¶ar hr H$ m~©ZMH«$ mV ¶oV Zmhr?

àH$ me g§íbofU n[adhZ

ídgZ Ordmí‘ B§YZmMo ÁdbZ

à. Q> o[aS> mo’$ m¶Q> m ‘Ü¶o ----- ZgVmV.

‘wi ImoS> ’w$ bo nmZo

à. ‘mZdr JwUgyÌo ------ Mo ~Zbo AmhoV.

{S> .EZ.E. à{WZo

{S> .EZ.E. d à{WZo Ama.EZ.E.

à. ‘mZdr CËgO©Z g§ñWoV ------ Mm g‘mdoe hmoV Zmhr.

d¥³H$ mMr OmoS> r ‘yÌdm{hZrMr OmoS> r

‘yÌmoËgO©H$ Z{bH$ m Obdm{hÝ¶m d agdm{hÝ¶m

à. amï´> r¶ amgm¶{ZH$ à¶moJemim ----- ¶oWo Amho.

‘w§~B©> nwUo

~§Jbmoa {Xëbr

à. Am°p³gOZMm emoY H$ moUr bmdbm?

{àñQ>bo> ê$ Xa’$ moS> ©

ES> dS> © OoÝZa ‘moñbo

29

1. 2.

3. 4.

30

1. 2.

3. 4.

31

1.

2.

3.

4.

32

1. 2.

3. 4.

33

1. 2. 3. 4.

34

1. 2.

3. 4.

35

1. 2.

3. 4.

36

1. 2.

3. 4.

37

1. 2.

3. 4.

Aman stands in front of a mirror and finds that his image is larger than himself. The mirror is a --- mirror.

[convex] [concave]

[plane] 1 2 [both 1 and 2]

Volt is the unit of ----------

[current] [resistance]

[charge] [none of these]

P

A stone is thrown upwards as shown in the diagram, when it reaches P, which of the following has the

greatest value for the stone?

[Its acceleration]

[Its kinetic energy]

[Its potential energy]

[Its weight]

Which of the following step is not involved in the carbon cycle?

[Photosynthesis] [Transpiration]

[Respiration] [Burning of fossile fuels]

Pteridophyta do not have ----------

[root] [stem] [flowers] [leaves]

Human chromosomes are made up of --------

[DNA] [Protein]

[DNAand Protein] [RNA]

--------------- is not a part of human exceretory system.

[Pair of kidneys] [Pair of ureters]

[urethra] [xylem and phloem]

The National chemical Laboratory (NCL) is situated in -----------

[Mumbai] [Pune]

[Bangalore] [Delhi]

Who discovered Oxygen?

[Priestley] [Rutherford]

[Edward Jenner] [Moseley]

(5)
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à. ----- df© nyU© Pmë¶mZo ho df© Am§Vaamï´> r¶ AmdV©gmaUr df© åhUyZ gmOao Ho$ bo OmV Amho.

à. dgw§Yam {Xdg hm ------ bm gmOam H$ aVmV.

E{àb E{àb

‘mM© OyZ

à. H$ moUË¶m ^maVr¶ d¡km{ZH$ g§ñWoZo àW‘V… ñdXoer, gm¡a, hm¶{~«S> Bbop³Q´> H$ H$ ma {dH$ {gV Ho$ br Amho?

à. ^maVr¶ AdH$ me g§emoYZ g§ñWoMo (BñÌmo) Mo n{hbo à‘wI H$ moU?

g{Vf YdZ {dH«$ ‘ gmam^mB©

S> m°. E.nr.Oo. H$ bm‘ hmo‘r ^m^m

à. Imbrbn¡H$ s H$ moUVm emoY E{S>gZ emñÌkm§Mm Amho?

g§JUH$ Q> o{b’$ moZ

H°$ WmoS> ao Q> ¶w~ ’$ moZmoJ«m’$

à. S> m°. haJmoqdX IwamUm§Mm OÝ‘ H$ moUË¶m XoemV Pmbm?

nm{H$ ñVmZ ^maV

A‘o[aH$ m a{e¶m

à. àW‘V…M ------ A§Vamidra AdH$ memVrb ‘°aoWm°Z‘Ü¶o Ymdbm.

H$ ënZm Mmdbm amHo$ e e‘m©

gw{ZVm {dë¶‘g ¶war JmJarZ

à. ‘Ü¶o ------ ¶m§Zm nX²‘^yfU nwañH$ mamZo gÝ‘m{ZV Ho$ bo.

S> m°. gbr‘ Abr gw{ZVm {dë¶‘g

H$ ënZm Mmdbm S> m°. haJmoqdX IwamZm

à. nwT> o {Xboë¶m g§»¶m§À¶m OmoS> çm§‘Yrb A¶mo½¶ OmoS> r AmoiIm.

à. nwT> rb àíZm§V Mma n¶m©¶m§n¡H$ s VrZ n¶m©¶m§‘Ü¶o {d{eï> gmå¶ Amho. {^ÝZ n¶m©¶ AmoiIm.

38

1. 2.

3. 4.

39

1. 2.

3. 4.

40

1. 2.

3. 4.

41

1. 2.

3. 4.

42

1. 2.

3. 4.

43

1. 2.

3. 4.

44

1. 2.

3. 4.

45

1. 2.

3. 4.

46

1. 2. 3. 4.

47

1. 2. 3. 4.

2019

2019 is the international year of the periodic table to celebrate ---------- years.

50 60

100 150

Earth day was celebrated on --------------

7 [7April] 22 [22April]

23 [23 March] 5 [5 June]

Which Indian scientific organisation has developed first indogenous solar hybrid electric car?

DRDO CSIR

TIFR ISRO

Who was the first chairman of Indian Space Research Organisation (ISRO)?

[Satish Dhawan] [Vikram Sarabhai]

[Dr.APJ Kalam] [Homi Bhabha]

Which of the following discovery is related with scientist Edison.

[Computer] [Telephone]

[Cathode ray Tube] [Phonograph]

In which country Dr. Har Gobind Khorana’s born?

[Pakistan] [India]

[America] [Russia]

------------- was the first astronaut who ran a marathon in space.

[Kalpana Chawla] [Rakesh Sharma]

[Sunita Williams] [Yuri Gagrin]

1958

------------ was awarded the Padma Bhushan in 1958.

[Dr. SalimAli] [Sunita Williams]

[Kalpana Chawala] [Dr. Hargobind Khurana]

Choose the number pair which is different from others.

12 - 42 22 - 74 24 - 84 18 - 63

In the given question three out of the four options are a like in a certain way. Find the different one.

AB HI PO GF

(6)
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à. EH$ m narjoV aUOrVbm ‘mo{hZrnojm OmñV ‘mÌ {à¶§H$ mnojm H$ ‘r JwU {‘imbo. {à¶§H$ mbm JrVm§Obr d

H$ mì¶mnojm OmñV JwU {‘imbo. JrVm§Obrbm ‘mo{hZrnojm H$ ‘r JwU {‘imbo ‘mÌ {Vbm gdm©V H$ ‘r JwU

{‘imbo Zgë¶mg JwUm§À¶m CVaË¶m H«$ ‘mZo Xþgar H$ moU?

{à¶§H$ m aUOrV

H$ mì¶m ‘mo{hZr

à. ‘§JoeH$ S> o nmhÿZ gm[aH$ m åhUmbr, Ë¶mMr AmB© ‘mÂ¶m AmB©Mr EHw$ bVr EH$ ‘wbJr Amho. Va gm[aH$ m ‘§JoeMr H$ moU?

AmB© ‘wbJr

~hrU ‘mder

à. EH$ m am§JoV hf© S> mdrH$ Sy> Z Zddm Va AmH$ m§jm COdrH$ Sy> Z Voamdr Amho. Ë¶m XmoKm§Zr AmnmngmV OmJm ~Xbë¶mZ§Va hf©

S> mdrH$ Sy> Z gVamì¶m ñWmZmda OmVmo. Va AmH$ m§jmMo AXbm~XbrZ§Va COdrH$ Sy> Z am§JoVrb ñWmZ {H$ Vdo?

àíZ{MÝhmÀ¶m OmJr ¶mo½¶ A§H$ ^am.

à.

à.

à.

à. EH$ m gm§Ho$ {VH$ ^mfoV hm eãX Agm {b{hbm OmVmo Va Ë¶mM ^mfoV hm eãX H$ gm {b{hbm OmB©b?

48

1. 2.

3. 4.

49

1. [ 2. [

3. [ 4. [

50

1. 2. 3. 4.

51

1. 2. 3. 4.

52 1. 2.

3. 4.

53 1. 2.

3. 4.

54

1. 2. 3. 4.

In an examination Ranjit got more marks than Mohini but less than Priyanka. Priyanka got more marks

than Gitanjali and Kavya. Gitanjali got less marks than Mohini but her marks are not the lowest. Who is

second in the descending order of marks?

[Priyanka] [Ranjit]

[Kavya] [Mohini]

“ ”

Pointing to a Mangesh, Sarika said, “His mother is the only daughter of my mother.” How is the relation

of Sarika to Mangesh?

Mother] Daughter]

Sister] Aunt]

In a row Harsh is ninth from left and Akanksha is thirteenth from the right. They exchange their

positions and then Harsh becomes seventeenth from the left. Find the new position of Akanksha from

the right end of the row?

9 27 20 21

Find the number which can replace the question mark?

4 : 15 :: 8 : ?

29 32 63 65

89 37

36 215

40 48

50 60

TRUE RTSG GATE

If TRUE is coded as RTSG in a certain language then how GATE be coded in that language?

ECRG ICRG IYVC ECVG

th th th st

For Q. 51 to 53

(7)

2 1 26

6322

1 5 ?

? 65
82
5

1017
26
37

(H$ ÀMo H$ m‘)
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For Q. 55 & 56

For Q. 61 to 64

55

1. 2. 3. 4.

56

1. 2. 3. 4.

57

1. 2. 3. 4.

58

1. 2. 3. 1:10 4. 2:10

59

1. 2.

3. 4.

60 8 10

1. 2. 3. 62 4.

61

1. 2. 3. 4.

g§»¶m‘m{bH$ m nyU© H$ aÊ¶mgmR> r ¶mo½¶ n¶m©¶ {ZdS> m.

à.

à.

à. Imbr EH$ mM KZmH¥$ Vr R> moH$ içmÀ¶m doJdoJiçm pñWVr XmIdë¶m AmhoV. Ë¶m§Mo {ZarjU H$ ê$ Z À¶m {dê$ X²Y {Xeobm

H$ moUVm a§J Agob Vo gm§Jm.

à. a‘oe dm. {‘{ZQ> m§Zr KS>çmimMr AmaemVrb à{V‘m nmhV hmoVm. Ë¶mbm KS>çmimV H$ moUVr doi {Xgob?

à. Imbrb AmH¥$ VrV OmñVrV OmñV {H$ Vr {ÌH$ moU XmIdVm ¶oVrb?

à. KS>¶mimV dmOm¶bm {‘{ZQ> o H$ ‘r AgVmZm XmoÝhr H$ mQ> çm§V {H$ Vr A§emMm H$ moZ hmoB©b?

Imbrb doZ AmH¥$ Ë¶m§Mo {ZarjU H$ ê$ Z Ë¶mImbrb àíZm§Mr CËVao Xçm.

à. Q> o{Zg MmhVo, {H«$ Ho$ Q> IoimSy> , {dXçmWu

Complete the number series.

2 , 3 , 10 , 15 , 26 , ?

35 36 37 40

22 , 26 , 34 , 41 , 46 , ?

56 49 58 65

Green

Different positions of a dice are given below.

By observing, find the colour on the face opposite to Green.

Red Pink Blue Black

10 10

Ramesh was watching a mirror image of a watch at 10.10. Find the time of the watch from the given

alternatives?

10:10 1:50

How many triangles are in the following figure contained?

16 14

13 15

Find the angle between the hour hand and the minute hand of a clock when the time is 10 minutes to 8?

60 65 64

Observe the Venn diagrams and answer the following questions.

(a) (b) (c) (d)

Tennis fans, Cricket players, Students.

a b c d

0 0

(8)

(H$ ÀMo H$ m‘)

1
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(H$ ÀMo H$ m‘)

à. JmOa, AÝZ, ^mOrnmbm

à. Ý¶m¶m{Ye, Mmoa, JwÝhoJma

à. {ÌH$ moU, Mm¡H$ moZ, Mm¡ag

à. nwT> rb B§J«Or eãX dUm©ZwH«$ ‘o bmdë¶mg Ë¶m§Mm ¶mo½¶ H«$ ‘ H$ moUVm?

à. {gX²YmW©Zo Vo A§H$ àW‘ MT> Ë¶m d Z§Va CVaË¶m H«$ ‘mZo gai aofoV doim {b{hë¶m. Va ì¶m ñWmZmda H$ moUVm

A§H$ ¶oB©b?

à. EH$ {eH$ mar åhUmbm, ‘mÂ¶mH$ S> o gmoSy> Z gd© {M‘Ê¶m, gmoSy> Z gd© nmado d gmoSy> Z gd© ~XHo$ AmhoV Va Ë¶mÀ¶mH$ S> o

EHy$ U {H$ Vr njr AmhoV?

à. àíZ{MÝhmÀ¶m OmJr H$ moUVr AMyH$ g§»¶m ¶oB©b?

à. g§»¶m‘m{bH$ m nyU© hmoÊ¶mgmR> r ¶mo½¶ n¶m©¶ {ZdS> m.

g§»¶m‘m{bHo$ Vrb MwH$ sMo nX AmoiIm.

à.

62

1. 2. 3. 4.

63

1. 2. 3. 4.

64

1. 2. 3. 4.

65

1. 2. 3. 4.

66 1 9 10 47

1. 2. 3. 4.

67 “ 9 8 7 ”

1. 2. 3. 4.

68

1. 2. 3. 4.

69

1. 2. 3. 4.

70

1. 2. 3. 4.

Carrot , food, vegetables

a b c d

Judge, thief, criminal

a b c d

triangle , quadrilateral , square

a b c d

Arrange the given words in the sequence in which they occur in the dictionary?

credential (1) creed (2) crease (3) cremate (4) credible (5)

1 2 3 4 5 1 5 3 4 2 5 1 2 3 4 3 1 5 2 4

Siddharth writes one to nine numerals acending order and then descending order for 10 times in a

straight line. Find the numeral on forty seventh place?

8 7 9 6

Abird shooter was asked how many birds he had in his bag. He replied that there were all sparrows but

9, all pigeons but 8, all ducks but 7 how many birds he had in all?

24 12 8 36

Which number can replace the question mark perfectly.

9 5 13 36

Complete the series.

0 , 4 , 6 , 3 , 7 , 9 , 6 , -------- 12

8 10 11 14

In the following series there is a wrong term. Find out the wrong term.

625 , 529 , 441 , 289 , 324

625 289 324 441

For Q. 70 & 71

(9)

5 3

4

24
7 5

6

?
9 7

8

48

B. dr9



à.

à. KS>çmimV dmOVm {‘{ZQ> H$ mQ> m nyd© {Xeobm Agob Va Vmg H$ mQ> çmMr {Xem H$ moUVr?

Am½Zo¶ X{jU

CËVa Z¡F$ Ë¶

à. VZ¶m q~XÿnmgyZ ‘r. X{jUoH$ S> o gai MmbV OmVo d H$ mQ> H$ moZmV COì¶m {Xeobm diyZ nwÝhm ‘r. MmbVo. Ë¶mZ§Va Vr

H$ moZmV COì¶m ~mOybm diyZ ‘r MmbV OmD$ Z q~Xÿn¶ªV nmohmoMVo. Va d q~Xÿ‘Yrb A§Va {H$ Vr?

MwH$ sMo nX AmoiIm.

à.

à.

71

1. 2. 3. 4.

72 7.30

1. 2.

3. 4.

73 A 8 8

45 B A B

1. 2. 3. 4.

74 1. 2. 3. 4.

75 1. 2. 3. 4.

1 , 2 , 6 , 15 , 30

30 6 2 15

Awatch reads 7.30 if the minute hand points East, in what direction will the hour hand point?

[South-East] [South]

[North] [South-West]

Tanaya starts to walk from point A towards south, After walking 8 mtr. she turns in 90 to her right. She

walks 8 mtrs straight and turns again her right in 45 and walks meters to reach point B. What is

the distance between pointAand B.

16 m 0 m

Find an odd man out

OE = 3 XD = 6 LB = 5 UK = 2

6 M 8 P 9 R 12 X

0

0

0

For Q. 74 & 75

*******
(¶m àíZn{ÌHo$ Mr CËVa gwMr 4/5 {XdgmV ¶m do~gmB©Q> da CnbãY hmoB©b)(Answer Key) www.drcvramanexam.com

(10)

(H$ ÀMo H$ m‘)

8     2N

8     2N

24     2 mN 8     2 mN
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